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The outer part of the earth in which we live is called:

A) core () B) mantle ()

C) crust () D) globe ()
Water vapor is a .
A) solid () B) liquid ()

C) gas () D) All of these ()

A doctor who treats sick and injured animals is called:

A) pediatrician () B) dentist ()
C) Dietitian () D) veterinarian ()
Which is the largest sense organ ?

A) Nose () B) Eye ()

C) Skin () D) Ear ()
Which planet is nearest to Earth ?

A) Venus () B) Mars ()
C) Mercury () D) Jupiter ()
Who was the first Prime Minister of India ?

A) Dr. Rajendra Prasad () B) Jawahar Lal Nehru ()

C) Sardar Patel () D) Dr. B. R. Ambedkar ()

Which one is medicinal plant ?

A) Tulsi () B) Neem ()
C) Pudina () D) All of these ()
What is the main source of water ?

A) River. () B) Pond. ()
C) Sea. () D) Rain. ()
Name drop of water you see on the grass in the morning.

A) Dew () B) Nail ()
C) Snow () D) None ()
When | want to know about the past | go to:-

A) My friend () B) My uncle ()
C) My sister () D) My grandparents ()

Rita has some stamps. Jolly gave her 13 more stamps. if Rita has 29 stamps now, how many
did she has in the beginning ?

A) 16 () B) 26 ()
C) 32 () D) 42 ()
Which of the following is the same as 5 times 7 ?

A) 5+5+5+5+5 () B) 7+7+7+7+7 ()
C) 7TxX7TxT7x7x7 () D) 5+5+5+5+5 ()

Shana had 24 pieces of bubble-gum. She wants to share with two friends equally, How many
pieces will she give to each of them ?

A) 18 () B)12 ()
C) 99 () D) 22 ()

Bross rode his bike to Juvinial road. He saw 88 flowers in 1 garden. There were 3 gardens. How
many flowers were in all ?

A) 999 () B)435 ()
C) 555 () D) 968 ()
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Ram had 342 coins in his collection. How would you write 342 ?
A) Three four two () B) Three forty two
C) Three hundred forty two. () D) Three hundred four two.

A shop keeper puts an even number of chocolates in a jar. How many chocolates could
he have put in the pot ?

A) 999 () B) 900

C) 901 () D) 905

Which of these number sentences is correct ?

A) 456 > 465 () B) 476 > 467

C) 403> 430 () D) 457 > 475

Which of the following is in ascending order ?

A) 5234, 5243, 5324, 5342 () B) 5234, 5324, 5342, 5243
C) 5342, 5324, 5243, 5234 () D) 5324, 5342, 5234, 5243

Rita had $150. She wanted to buy a doll that costs $230. How much more money does she need to

buy the toy ?

A) 80 () B) 90

C) 100 () D) 120

9x9=

A) 81 () B) 91

C) 89 () D) 22

What is the plural form a knife

A) Knifes () B) Knives

C) Nifes () D) Nives

What is past tense of ‘place’ ?

A) Placed () B) Plased

C) Plasis () D) Placing

What is the verb - | ran out of the room.

A) | () B) Ran

C) Out () D) Room

What is the helping verb - Sidney has helped stray cats before.
A) Has () B) Cats
C) Helped () D) Before

Fill in the blanks: would you prefer - pizza or burger ?

A) What () B) Which

C) When () D) Why

Choose the opposite gender of “ Milkman”

A) Milklord () B) Maidmilk

C) Milky () D) Milkmaid

Choose noun from the given options:

A) Lonely () B) Less

B) Pet () D) Lastly

Choose the correct pronoun to complet the sentence:

The food is stale. should not eat it.

A) You () B) Them

C) His () DIt
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Choose the correct adjective to fill in the blank:

A giraffe has a neck.
A) Quick () B) long
C) far () D) big
Choose the correct spelling :
A) NATRINGI () B) GATRINNI
C) INGRANYI () D) TRAINING
1024 Kilobytes is equal to ?
A) 8 Bits () B) 1 Megabyte (MB)
C) 1 Gigabyte (GB) () D) 1 Byte
MS-Paint is a program which is used for ?
A) Presentations () B) Calculations
C) Drawing () D) Creating database
is an example of Word Processor.

A) MS-Paint () B) MS-Word
C) Windows 10 () D) Windows 7
In backstage view, panel shows the commands.
A) First () B) Second
C) Third () D) Fourth
You enter the text with the help of .
A) Mouse () B) Keyboard
C) Printer () D) CPU

Is an input device which is used for playing games.
A) Joystick () B) Printer
C) Mouse () D) Keyboard

tool is used to get bigger and closer view of image.
A) Skew () B) Select
C) Zoom () D) Grid Line

is used to clear the text written in command input box.

A) ST () B)CT
C)RT () D)FT
Animal that live inside the house
A) Lizard () B) Cow
C) Sheep () D) None
Where is Bahai Lotus Temple located?
A) Kolkata () B) Mumbai
C) Lucknow () D) New Delhi
A team of scientists from which organisation has entered China, to probe the source of Coronavirus?
A) FAO () B) WHO
C) John Hopkins University () D) CDC

Kuno National Park is located in which state?
A) Uttar Pradesh () B) Arunachal Pradesh
C) Haryana () D) Madhya Pradesh

(
(

(
(

)
)

)
)



43

44

45

46

47

48

49

50

GROUP-B

Food given in ‘Gurudwara’ :

A) Langer () B) Feast

C) Dinner () D) Lunch

Croak croak is sound of an animal

A) Pig () B) Fox

C) Deer () D) Frog

Which of the following covers most of the Earth's surface ?

A) Sand () B) Water
C) Cities () D) Mountains
Highest mountain in the world

A) Kanchan Junga () B) Mount Everest
C) Pikes Peak () D) Nigeria

What is the capital of Andaman and Nicobar?

A) Puducherry () B) Port Blair

C) Dadra Nagar haveli () D) Kochi

What country has the largest population in the world ?

A) India () B) America

C) China () D) Japan

What is 11 divided by 0 ?

A) «© () B) 11

C)o () D) None of these
The change of a substance from the solid state to the gaseous state is called ---
A) sublimation () B) evaporation
C) Melting () D) filtration

Rough Work



